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1. a) 9𝑥  
b) −13𝑎 + 17𝑏 

c)  
75𝑎

14
 

d) 3𝑥 

2. a)  
2

3
 

b)  
6(𝑦−1)

7𝑦2 =  
6𝑦−6

7𝑦2  

3. a) 𝑡 = −
5

3
 

b) 𝑥 = 7 

4. a) 𝑣 = 17.5
𝑘𝑚

ℎ
 

b) 𝑡 = 0.3ℎ = 18 𝑚𝑖𝑛 
c) 𝑡 = 0.16ℎ = 9.6 𝑚𝑖𝑛 

5. a) 38 Lastwagen 
b) CHF 33.85  

6. a) 8 Rechtecke: 
 
 
 
 
 
 
 
 
 
 
b) 4.8 

c) 𝑦 = 24: 𝑥    oder:     𝑦 =
24

𝑥
 

d) umgekehrt proportional und senkrecht 

7. a1) 0.343 = 34.3% 
a2) 0.973 = 97.3%  

b1) 
1

36
= 0.02778 = 2.778% 

b2) 
1

6
= 0.1667 = 16.67% 

8. a) 𝑢 = 19.8 𝑐𝑚 
b) 𝑢 = 7.8 𝑐𝑚 

9. a) ℎ = 9 𝑐𝑚 

b) 𝑆𝐴 = √648 = 25.456 𝑐𝑚 
 
  Lösung für alternative Höhe h = 6 cm: 

  𝑆𝐴 = √513 = 22.6495 𝑐𝑚 


